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SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. Define a symmetric matrix
2. A=
3. If  [image: image1.png]o]
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, find the values of x and y
4. Why do we applyHawkin – Simons conditions?
5. Differentiate: y= - 4x3 + 27x4+ 1000
6. Y= Log X2 Find dy/dx.
7. The demand function for a product is estimated as P = 40 – 4Q. If the current market price is Rs.8, what is the price elasticity of demand?
8. Z= x3y2.+ 25 xy Find [image: image3.png]ax
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9. The demand function for a commodity is estimated to be Qd = 6,00,000 – 20P. Find out the theoretical highest price that can prevail in the market .
10. What are the conditions for maximization of Y = f ( x)?
11. If  Z = x3 + 4 x2y + 8 y2  find the first and second order partial derivatives.
12. State product and quotient rules of differentiation.
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. Let A= [image: image5.png]


find out the Co factor  matrix of A. 
14. The production function for Neeraj Tools Ltd. is estimated as TP = 80L2 – L3. Find out the the maximum possible average product of labor  .  ( L = Labour ; TP = Total Product)
15. Write a short note on  ‘Input Output Analysis’.
16. What are the properties of a determinant?  Prove that with examples.
17. If  Q = A L0.6 K0.4 Prove that  L [image: image6.png]
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  =  Q
18. Derive the relationship among AR , MR and Elasticity of demand using Calculus.
19. The production function of Kalyan and co. is given as TPL = 30L – 1.5L2. Find out the number of labor ( L ) after which marginal productivity  becomes negative .
[P.T.O.]
SECTION C – (3 × 10 = 30 marks)
Answer any THREE questions
20. Solve the following system of equations by using cramer’s rule:
               3x-4y+8z=26,   6x - 3y – 5z=1,  - x + y+3z= 11
21. If  A== [image: image8.png]


Find the Inverse matrix of A.
22. A firm has the following revenue and cost functions of its product.
TR  = 83Q – 4 Q2 – 21   and    TC =  Q3 – 12 Q2 + 48 Q + 11
Find the maximum profit.  (  Q  = output )
23. Consider a very simple hypothetical economy of three industries 
A ,B and C represented in the following technological coefficient matrix.
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Determine the output vector if the final demand changes to 
( a)    150   for A ,    200  for  B  and  210  for  C
24. Explain the uses of matrices and Differential Calculus in Economics Analysis.
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